
 
Aim: How do we draw the Bohr model of any atom? 
 

1) Bohr Model – p+ and n0 in the nucleus, e
-
 in orbits 
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The electron configuration- tells us the # electrons in each orbit. 
 
2) There are a maximum number of electrons that occupy each orbit. 
These are referred to as “complete” (full) energy levels. 
 
Energy Level     Max # of e-  
    1st        2 e- 
    2nd        8 e- 
    3rd       18 e-         
    4th       32 e- 
 
 
 

Watch out for * -18-32-10-2  for Hf; this means that they didn’t have room to write-in 2-8. 
 

Let’s try some more. 
 
40Ar 

 
 
 
 
 
 

Since K has 19e- you’d expect, 2-8-9, but actually it’s 2-8-8-1 because the 

maximum #valence electron is 8.  
 
 

3) Some basic questions. Refer to “give me a dozen” handout on the next page.   
 
ALSO, we went over last nite’s HW on BLS. That’s on the last page. 
 
 
 
 
 
 
 
 
 
 
 

But, if it’s the last orbit, the 
one furthest from the nucleus, 
the maximum number is 8 e-, 
these are called valence 
electrons; they are the most 
important b/c they are 
involved in chemical reactions. 

 



 
 
 
 
 
 
                                 
 
                                        
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 


